Exercice :
Série 1
420 :10= 42
3600:10 =360
4 000 : 10 = 400
600:100=6
3900:100= 39
5000 : 100 =50
2000:1000=2
15000:1000= 15
356 :10=35,6
24:10=2,4
150:100=1,5
380:100=3,8
789:10=78,9
4500:1000=4,5

CALCUL MENTAL
Diviser un nombre entier par
10, 100 ou 1 000

Donne le résultat des opérations suivantes.

Série 2
42:10=4,2
359:10=35,9

4789 :10=478,9
267 :100= 2,67
390:100=3,9
583:100=5,83
2600:1000=2,6
1575 :1000=1,575
378:10= 37,8
99:10=9,9
175:100=1,75
30:100=10,3

796 :10=79,6

4 570:1000 = 4,57

3560:1000=3,56 3006:1000 = 3,006

Baladodiffusion

AP

Série 3

4:10=0,4
37:10=3,7

403 :10=40,3

67 :100=0,67
39:100=0,39
5:100=0,05
200:1000=0,2
15:1000=0,015
3:10=0,3
24:100=0,24
1:100=0,01
38:1000=0,038
789:1000=0,789
5:1000 = 0,005
353:1000=0,353
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